Enrollment No: Exam Seat No:

C. U. SHAH UNIVERSITY

Summer Examination-2022

Subject Name : Accounting & Finance-VI
Subject Code : 4CO06AFI12 Branch:B.Com (Gujarati)
Semester : 6 Date : 11/05/2022 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)

a) SasZlR2] sudlai uist a3l MHl0(ll WlFAM. ... H29L S50 ealaam 1
214 69,
(A) 2261eR1AL @iglal (B) (G121, 2ai
(C) wd =4 (D) 2z4él

b) Als vUUAHE pUAL UAU-6412100A] WAz~ 1
(A) Hedl w2 ey (B) 4l w2 opun
(C) AlHLA VA dBUIA (D) Haddl 2rma w3 o

C) s dizd 225w 3uidz 59 a5 97 1

A) i2d; MU

(B) 2wl M2uls e

(C) igld: 2aAL AUl MU AL 519 4oL 234
(D) Guz-IHil vis ublL 212 <l

d) ol Uiz YL AL 52AUE BUA AR, 1
(A)2z4EL viLd GEIRIA 9. (B)24él vl orHL s2AUHE 214 £9.
(C)51S liHt Al el (D)ot vild, GHIRIA €9,
€) HIet UAMR UR AUHIA SUAl2ADL 521 [s10fl Hie Horot 22Els sHl 1
aRdldlone stdidaidl 26 97
(A) [s10il 21w -19 (B) [0l Aizel- 21
(C) [soil aizpl -22 (D) [s210dl ®izw -20
) s SBEaZl dz buani ada_ <l aeiddl sz w08 © 1
(A) 23l o1om2(54d (B) 22l Sxuiat (544
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(C) 2=€ls He suupil (D) A 91225 sHuell

9) sealSore [3o1-az Al Yedell vid SEAZ] A2 S D A CREIR) 1
(A) dldd (542l 92 (B)odldd 92 (C)usl 92 (D) Useyt U2
M) 565 cidlot ol [sadiell Hize 20 wiHemi sii §57? 1
(A) 1-¥-1czzdl. (B)1-w-20004l. (C)i-¥-20044l. (D)1-¥-200324l
) {lEmisd] 56 Suedl Qe 2zl uzd wlEl (ona-0s) 53 asdl 441? 1
(A)ulsas sudl  (B)[2sic2 sudl (C)Geuied sudl  (D)<uelisld su-il
1) sudl ol 92 dlRdi aEdimiel gz gl asa 1
(A) Hil  (B) vttHd HEl (C) Hél 2Amd (D) Guz-iHiadl 516 upl Al
K)  adl 2id syaiotzlzldl e <l ¢Ba 240 usizedl e dldidl 2ads alls feaen 1
AR 52 69
(A) [Azsll i (B) 42t ALl
(C) 2adx vl (D) ol 2adx 24 (A2l Al
v vid st v . 1
(A) A[5d01d. Wid, (B) HlaMasd Uslz 4 viid
(C) Gusy WA, vild (D) »is ubL g
M) s il GUAL 554 Wl MULS ol 82 BUUAL HIZ 2437 1
(A)<l5L 459l Wid (B)[3oA-z u2d 58 vild
(C)uUlHLA BAAMA VL (D)4l uzd 2AUHA ML
) 2edst Al iz Yoo vl 4 viid- 1
(A) <5l 45Ul VAL 679 €9 (B) 4l vldL 6vd €9,
(C) Hiaasd vildL oyd €9 (D) GUsy W3, vildlL 6y, &9
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions (14)
(A) vl 2424 92 arviidl (sl vl Gaal syoudl 7
(B)  olidx 92 ¥i2d 9? ol U2 ot12 Uil sthaldl uumal 7
Q-3 Attempt all questions (14)
(A Zsdin qvil — 1) 2A2 B2l Az /
2) UHY 22 AL AIEL
(B) e 2aa 922ls sHIEll 4ssl 52l (AR Aumal 7
Q-4 Attempt all questions (14)
(A)  u=eat Arvtidl daEl syl 7
(B)  2=zudlMi 52312 sl 2ldl sypudl 7
Q-5 (14)
Hid Sals2s Araid Sudldl L sudlanzidl spivandsil 2142412 dl. 314l W3,
2024l Uy UL AN AAIR 53
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Q-6

(A)

(B)

3

R CTERNIN] ¥,U0,000
CEIRICIITWICE 3,0,000
12 %l 36122 £0,000
gLl @RI 2%,000
VAlHA, §3 23,u00
HELAL 2ALELRL 13,000
A5 vl oies [Ads 49,400
VAl AAL 2510 22,100
2218 383,000
dl. 394l HIZ, 2020 YHlAL vl :

sy¥led 14,000
HOY 2 21eU5IHA 2,02,U00
ORI %0,000
w51l 4U00

dl. 314l WA, 2029 <L sy 2L AdL 9 e Guddl Bedl s [Aatdl

23 454 3. 38,U00; 3. 39,U00 Vi 3.1U,000 WAAML UL & i, 3,

3 9,uo00 Adldlszm eislon Gle] s2Aml 2 ¢d. dslad<l 254 (Balancing

figure 3. 2%,,000 Sucl-l <5l ARl 9.

Attempt all questions

(14)

{12 24U Hiladl uedl Haed gz€ls sl 2id He 2239 A=2ls srplldl apdl 7

530

Y1g, Al HIzAlL v 451 3. £3,00,000
Slsa2l 2zl ousl vl 20,00,000
£25 3. 10l ddl 10%-ll s<al2oid iz 4,00,000
(225 [201e12 10 S[542] 224l 3uidzuL ©9.)

Al e2(Ralq (20192 ALyl v 3.10,00,000
52930l £2 30%
‘Q [afmzedl {12 24l Hiledl wedl naed 2z6ls sHugledl awd<l s2i:
(a0 3. (571¢Hl)

QIR OIS D Us2ed (34308 usaidl 51 QU.00

2120 10.00

Ugze Uz (3[Ag-s 32.10

52931l 1101915 10.00
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Q-7

Q-8

(A)

AHIRLAL QLM UR 53921 U.00
RULS 24 H5a2] A4l 23.00
(835 3. 10l YRl MRULE)

(14)
[Madl YogAoizmi 2is Al 6. YA AALBL Hizedl dHIH HId UgdR ddl
20% Aaldld @2l (sHd Hud pHilEad]l Hisart 89 2id divild HOdl dHIH 158
Yol Bhs OlesHi VAL Yo HI[EAAL VULAIHL Ay HRAML U 89,
<A1l (A1dl uzsil Hut 2ATEUAL AIUSHE AR 5200 (1) AL Wid (2) vl
2AlEIRl, vld, (3) U2L 258 ld, 4) Al AUIR el Agl-csAld Vil dAIR 52U,
dL-¥-200  dl.31-3-2040
3. 3.
2215 (M.[5) (2,000 9,200
TR 42,000 13,400
DEURIEX 120 (?)
sl 1%,000 (?)
LA Hisdd Hid (M.[5.) 29,00
Yot 20[5u U2 52 HIE (M.[5.) 1,200
gL Uil Aol engeis 200
258 A28 2,000
A5 YA 539 HIE 300
ALUALAL 2ALERIA BIUE 921 Uoo
54 410l U, UOO
Y220 V2] 2¢0
YYRBL M2 HIZ WML HISEE, 2158 3%0
Yo 27(5u] AsA AL WAl
CIREPERCE] 1,200
YU 2,000
22151 Ol 200
6¥51d 4212 Yoo ¥900
5[A2 U2 10% Avi =Rl ARl
Attempt all questions (14)
1A, 2L AagIRiedl 2UHAE QUi 04
(1) 3. 100l 3t 2dl H(542] U=l o4l 3. 10,00,0004] sul-l MU
24l 4L 9. dutinl il Héld 3. Lol 215 2al (542l 214 3. Lol 25 214l 10
251l Ug2e, ARHI 2130wl [Aeyoilszel s2ald sl 54
(2) Su<ll2d 3. 100l s AL UL MIULS AL 2,000 H[592] U2l lecim
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Al £la 52l 2215 24Ul <55l 54 :

(5) 225 €3l 3, 9 AU, (W) 225 U3l 3. 109 Qui.

(B) w2 (A28 dl.31-3-"1 %l Aoy Wig U A2 UMbl 6d ;2. 10
s¥AloleRl 3. Masdl 3.
3.100¢l s widl sl (Aetsdl: 10,00,000
9,000 6522l 92 9,00,000 2\‘“% (etsdl :
oles [Uats
ail-tolll Ml lan ¥0,000 | 53¢ 3,00,000
2 G119 2,£0,000 90,000
gl g 3,00,000
ABIEIRL
90,000
13,920,000 13,320,000
Sudlol @ Olsazl 2= ¥ Slsa2l 92 olidx U2 ddls uald «ssl 5 oy w2
22 UlMAnL uudl 254, vididd Gdlamidl 3.9,20,000 id oligldl 5 sl-
A5l vidMiEl dad «ssl s
SuAlal AU BUHAIAL QUil, uLg U232 o1l
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